SUBTRACT A

2-DIGIT NUMBER )
FROM A 3-DIGIT ’
NUMBER - CROSSING

100

White |

Rase


https://vimeo.com/461795311
https://vimeo.com/461795311




1) What is ten less than 1007

2) Complete the subtractions

12 — 4 =

12 tens — 4 tens = tens

3) Continue the sequences

150, 130, 120, , , )

154, 144, 134, ) , )
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1) What is ten less than 100? 90

2) Complete the subtractions

12 —-4=| 8

12 tens — 4 tens =| 8 |tens

3) Continue the sequences

150, 140, 130, 120, 110, 100, 90, 80

154, 144, 134,124,114,104, 94, 84







326 — 10 = 316




326 — 20 = 306
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326 — 30 = 296
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415 — 60 = 355

Hundreds Tens -

Q0 O,

(oo ] oo Q0
Q0O

OO0 O
D00




325 — 40 = 285 Haveathinkm e

Hundreds| Tens -

© Q0| ©
00 00
Q0O

@O00
L0000




o TuRn 2

Have a go at questions

1 -4 on the worksheet @




What number is Froggy hiding?

543,— 40' = 503
' |
503,— 20' = 483

- Have a thinkm



What number is Froggy hiding?

281 + 20, =301 351 —-50 =301
301 + 50' =351 301 —-20 =

—_ - Have a think
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o TuRn 2

Have a go at the rest of
the questions @

on the worksheet




